
1) Write 600000000 in standard form.

Answer: ____________

2) 2/9 x 1/5

Answer: ____________

3) 7 x 1000

Answer: ____________

4) 7 x 1000

Answer: ____________

5) Simplify 2:9

Answer: ____________

6) Round 22.0534 to 3 decimal places.

Answer: ____________

7) Decrease 144 by 1/48

Answer: ____________

8) 35.6 ÷ 4

Answer: ____________

9) Convert the following improper 
fraction 43/6 + 21/2 to a mixed number

Answer: ____________

10) Convert the following improper 
fraction 43/6 + 21/2 to a mixed 
number

Answer: ____________

11) Convert the following improper 
fraction 44/6 + 13/5 to a mixed 
number

Answer: ____________

12) $42.00 earning 3% compound 
interest for 4 years.

Answer: ____________

13) Solve by factorising 
f2 + 20f + 19 = 0

Answer: ____________

14) Find the percentage change from 5 to 
12

Answer: ____________

15) 4 x 8

Answer: ____________
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16) 20 - 18 + 11

Answer: ____________

17) 11 - 10

Answer: ____________

18) Find area of 
rectangle having 
sides a = 5 in 
and b = 2 in

Answer: ____________

19) 1.8 x 10

Answer: ____________

20) An amount was increased by 9% to 
$498.00. Find the original amount.

Answer: ____________

Total: ___ / 20
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Answers:

1) 6 x 108 2) 2/45 3) 7000 4) 7000 5) 2 : 9 6) 22.053 7) 141

8) 8.9 9) 7 10) 7 11) 64/15 12) $47.27 13) f = -1 or -19 14) 140%

15) 32 16) 13 17) 1 18) 10in 19) 18 20) $456.88
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